Di1viISION:

NEGATIVE DECIMAL NUMBERS (H - SET 4)

Drvision Name:
Time: Score:

o —=7039 + 10 = 1) —7373 + 1=
2 —35965 + 5 = 1M —45.72 +0.06 =
5 —23.695 =7 = 1% 535.32 +0.06 =
2475+ 0.5 = 19 —4.6256 + (—0.08) =
) 1568 + 4 = 20 3684 + (—0.6) =
6 —453 + 10 = 2y —=53.2+10 =
N —9.448 + (—0.04) = 2) —393.5 +05 =
9 —67.501 = (—0.07) = 2 9116 + 1 =
9 61.65 + (—0.09) = 24,4825 +0.005 =
0 —47.112 + (—0.06) = ) 257.85 + 9 =
=737+ 10 = 260 —256.68 =9 =
12) —273.55 + 5= 2 —26.315 + (—0.05) =
18 5205.6 =9 = % —4+0.05 =
1) 308 = 4 = 29) —3188.7+9 =
15 —582.66 + (—9) = 0 169.6 + (—10) =

Mathematics: Division - Level 6 - Horizontal - Set 4
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